-r[ = M (gf/%} “T‘L; M (ﬁ\‘—%{é‘h)
T, =T, = m (4~ %?J {(7&/449”) G /Q{ZH:
gy = G ()

AYS @z*’mg 4t _ §.fz<;-1,aq)[«f,5>fg1)(2,as)

-

nytmy 5 M ldlq + 551y + L (2645)

= .2 m/s

@ Tt K:=o U= o
Find: Ug = = Qurky (3 8ni ) (0¥ Y = =0 T
Ve = Jimuu 5 Tw™
A cond URW B, f“"’)? Splene = U o wnd
Wi

Vp = fmor 4 TG ) TE Emrs fin gl

lo = sy (£ )= v gMyT

E.oE > frrsMut - Ao

S \W = A37 ml
%m#LM




@(@) \(2_ ‘ 1 38 mls

>
IR mic 292m _
- - }«%(0}3‘1

Q&) U’"n\ Qn)%@jfj}/{\ cenler ‘4 Mass {MLL(POUJL (/]

:_Qf: L3 /
ez "ﬁ%\& = Oc?%‘”yw//s

B) Tred oo L
J’kk‘(“(—-\ o 4 *(f&/_h&u i Wi‘(k I:MKL
]_".‘: jw 4,3: e ’
A i t LW& - ;ZMY';EL W{
Lp= Om e W

L, = —_—
g T dmyyt W‘ﬁlml’;ﬁf«ip

o g ) )



